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2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Eighth Semester B.E. Degree Examination, June/July 2016
Operations Management

Time: 3 hrs. : Max. Marks:100

Note: Answer any FIVE full questions, selecting
atleast TWO questions from each part.

PART - A

Define operation management. Draw the operations management system showmg mput and
output model for an international airport. ' (06 Marks)
Briefly explain how service producers differ from goods producers in 1rnportant aspects of
their operations. A (06 Marks)
With neat schematic sketch, explain the frame work for managing operatlons (08 Marks)

™,

Define decision making. Explain the frame work for decision mglgng (06 Marks)
Two assembly robots X and Y working at the same rate togethgr*produce 400 filters per day.
During a recent day, 40 filters were found defectlve glven that the filter is defective, there is
0.40 probability it was produced by robot X (i.e., Pxp =0. 40) What is the probability that a
filter selected at random is : i) Defective ii) Produced by robot Y iii) Defective and
produced by robot X iv) Defective or produced by robot X. (04 Marks)
Define BEP. Briefly explain the various method,s of lowering the breakeven point. (10 Marks)

Briefly explain the following : i) Time serles “forecasting ii) Forecasting error and tracking
signal. (10 Marks)
The following table gives the annual shipment (tons) of welded tube by an aluminum
producer to machinery manufacturers

Year 2004 | 057106 [ 07 |08 [ 09| 10 | 11 | 12 | 13 [ 2014
Shipment (tons) | 2 {3 | 6 |10 8 | 7 [ 12|14 ]| 14|18 19

Use the least square method to develop a linear trend equation for the data given, state the
equation and forecast the shlpmenl for 2015. (10 Marks)

Define capacity plannmg Explain long-terms and short-term capacity strategies. (05 Marks)
The individual component capacities (in units/day) for an assembly line that consists of five
activities are’ shown in the figure below Fig. Q4(b). (05 Marks)

l C — Actual O/p
. . 11

Fig. Q4(b) |

i) What is the system capacity?

i) What is the efficiency of the system?

Annual demand for a manufacturing organization capacity is expected to be as follow :
Unit demanded | 8000 [ 10000 [ 15000 | 20000
Probability 0.5 0.2 0.2 0.1
Revenues are ¥35/unit. The existing manufacturing facility has annual fixed cost/operation
are T2 lakhs. Variable manufacturing cost are ¥7.75/unit, T5/unit, ¥5.33/unit & ¥7.42/unit
at the 3000, 10000, 15000 and 26000 vnit output level respectively. An expanded facility
under consideration would require 2.50,000 fixed operating cost annually. Variable cost are
9.4/unit, 5.2/unit, ¥3.8/unit and ¥4.9/unit at the 8000, 10000, 15000, 20000 unit output

level receptively. In orderto maximize the earnings which size facility should be selected?
(10 Marks)
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PART -B

List and explain the aggregating plannir.g stra.egies. (06 | arks)
Demand forecast for a non avtomatic washinz machine is given in the »Hllowing tal ¢ for
three periods.

»_imits on sources of capacitv

Period Demand forecast

. Regular | Overtime | Subconitact
1 6G0 el P 156
1050 G775 225 150

3 1600 | 3] 25 150
Initizl inventory ‘ =0
Ending inventory =240 ~N
Unit productioi: cost (regular) * =3 7600/~ SN
Ove.:ime production cost/unic. =% 3000 AN
Subcontracting cost/unit =3 12C0C/- 2 J
Back ordering cost . =T 400/uit/period)
Inventory cairying cost - =% 100/unit/period
Formulate the aggregate plamiing problem by ransportation method. (14 14arks)
Define invencory. Enlist the various reasons fcr maintaining inventories. (06 I'1arks)
Enlist the characteristics of rmnufacturmg model with no shortages. (04 TAarks)

A company purchases 9000 parts of ‘a machine for its annual requirer.ent, orderirg onc
month’s usage at a time. Each part cost T 20/-. The ordering cost per ord:r is T 15/- a:d the
carrying charges are 15% ofnthe average inventory per year. Determi:e the econvimical
purchasing policy for the cp;npany What advice would you offer and how much would it

save the company per year'7 (10 Marks)
Define MRP. Explaln the ﬁmddmental concepts of MRP. (07 Iviarks)
Briefly explam MRP-1I. . (07 [Marks)

A company makes Q model f£om components R, S and T component R is made from .. units
of componém X and one unit of zomponent Y. Component T is madc from one viit of
component Y and 3 units of compoaent Z.

i), Draw the product structure tree for the Q—model

u) Calculate the gross requirement for each of the components if the company plans to build
% 190 units of its Q-model, if 150 units component T and 200 units of component R in

o

inventories. (06 Marks)

Define supply chain. Explain the components of supply chain in detail. (08 Marks)

With neat block diagram, explain the various activities of company and supplier. (08 Marks)

Bull whip effect in supply chains. Explain. (04 Marks)
i K x K K ok



